CORRESPONDENCE 8/15/2025 DOCUMENT NO. 07949-2025

Nickalus Holmes

From: Ellen Plendl

Sent: Friday, August 15, 2025 11:30 AM **To:** Consumer Correspondence

Subject: Docket Nos. 20240172 and 20250010

Attachments: FW: County/City and Teco abuse of taxing authority and price gouging

See attached customer correspondence for Docket Nos. 20240172 and 20250010

Nickalus Holmes

From: Governor's Office of Citizen Services <EOGCitizenServices@eog.myflorida.com>

Sent: Friday, August 15, 2025 10:19 AM

To: Ellen Plendl

Subject: FW: County/City and Teco abuse of taxing authority and price gouging

Attachments: desantis 3.docx; TECO EXAMPLE.jpg

CAUTION: This email originated from outside your organization. Exercise caution when opening attachments or clicking links, especially from unknown senders.

Please find attached email received by the Governor's Office of Citizen Services. This email is forwarded to your office for review and any response or action appropriate.

Thank you.

Sincerely,

Martha Lynn
Office of Citizen Services
Executive Office of the Governor

From: Mr. Edwin Charles O'Malley <noreply@flgov.com>

Sent: Thursday, August 14, 2025 4:25 PM

 $\textbf{\textbf{To:}} \ Governor Ron. De Sant is @eog.my florida.com$

Subject: County/City and Teco abuse of taxing authority and price gouging

Submitted

Thu, 08/14/2025 - 16:21

Sender Information

Mr. Edwin Charles O'Malley mredomalley@protonmail.com 8635956001

Subject

County/City and Teco abuse of taxing authority and price gouging

Message

I have up loaded a document since there wasn't enough allowable space to express my verbal conjuncture

IP Address

172.70.83.87

User Agent

Mozilla/5.0 (Windows NT 10.0; Win64; x64) AppleWebKit/537.36 (KHTML, like Gecko) Chrome/109.0.0.0 Safari/537.36

Please note that under Florida law correspondence sent to the Governor's Office, which is not confidential or exempt pursuant to chapter 119 of the Florida Statutes, is a public record made available upon request.

"The Honorable Ron DeSantis,

Governor of Florida

Dear Governor DeSantis,

It has come to my attention and many other people's attention that the county (Polk) and/or city of Winter Haven has been charging inflated amounts on top of our already high electric service here.

I mean, the state can charge what they deem correct at 7%, but how does the city get away with

bill. I am disabled, and I receive a fixed income.

charging over 10% on top of our electric

While staring at my bills, I watch each and every cent they charge. This is unacceptable. How can the city charge more than the amount of tax set by our state government?

Well, the second case in point would be this: I used to run businesses, and there were times

I needed new computers or a new car and a new piece of equipment.

Well, that would come out of my profit that I

made as a company. Recently, let's just say within the last 20 years companies now charge (new infrastructure fees), and TECO also charges a (storm protection charge), a (storm surcharge fee), and a

(Clean energy transition mechanism fee).

Since when do a company's improvements fall upon the consumer. This should be taken from their profits! If the State of Florida is only allowing these companies to charge a certain rate, it should not allow all these other charges to fall upon the consumers. This only shows contempt for how they are really breaching the agreement set up with the state. TECO charges for the storm protection fee I mean, hey, when a storm hits us, I am without power for a day, a week or two, or maybe a month. I have a generator for which I buy gas and oil. I lose food in my freezer, I am not compensated by these storm protection fees. The fact they are Being able to charge these fees is really unfathomable.

I really hope that you will read this, and I'm not going to continue rambling on and on, but you have spoken about property tax reversals and other things put forth by the county and cities. Please, I beseech you to send your DOGE guys to also Look into the other leeches we have in our pathway.

I thank you in advance, Respectfully yours, Edwin C. O'Malley 2840 Thornhill rd Winter Haven, Fl 33880-1037

Ph# 863-595-6001



Service For: 2840 THORNHILL RD WINTER HAVEN, FL 33880-1037

Account Stateme Charges

Avg

45

30 15 kWh -

Imp

Mov Sta ser wer Cho end red a c Vi: fa:

Meter Read

Service Period: Jul 01, 2025 - Jul 30, 2025

Rate Schedule: Residential Service

Meter Number	Read Date	Current Reading	Previous Reading	=	Total Used	Mult
1000623727	07/30/2025	55,344	53,762		1,582 kWh	

Charge Details

Storm Surcharge Florida Gross Receipt Tax	1,582 kWh @ \$0.01995/kWh	\$31.5 <i>6</i> \$6.75
Clean Energy Transition Mechanism	1,582 kWh @ \$0.00406/kWh	\$6.42
Storm Protection Charge	582 kWh @ \$0.04044/kWh 1,582 kWh @ \$0.00722/kWh	\$23.54 \$11.42
First 1,000 kWh Above 1,000 kWh	1,000 kWh @ \$0.03044/kWh	\$30.44
Fuel Charge		
Above 1,000 kWh	582 kWh @ \$0.09924/kWh	\$57.76
Energy Charge First 1,000 kWh	1,000 kWh @ \$0.08924/kWh	\$89.24
Daily Basic Service Charge	30 days @ \$0.43000	\$12.90

Total Current Month's Charges

\$292.58